
MI HK MP5 AND Clones Handguard’s 

Installation Instructions. 

1.) Please make sure your firearm is unloaded and pointed in a safe direction. 
2.) Remove factory handguard on your rifle 
3.) Remove the M6.0 X 1.0 screw from your handguard with the supplied hex key. 
4.) Loosen but do not remove the 8-32 low head screw’s with the supplied hex key.        
5.) Install the MI handguard onto your rifle or pistol. 
6.) Apply blue thread loc onto the the M6 X 1.0 screw. 
7.) Install and torque the screw to 55 inch lbs. the head of the screw goes in the counter bored side of the 

yoke. 
8.)         Pull back on the handguard in the direction of the receiver and then torque the two 8-32 screws to 30 

inch lbs. Stripped screws are not covered under warranty. 
 W292S4498 Hill Side Rd. Waukesha, WI 53189 

262-896-6780 Fax 262-896-6756
www.midwestindustriesinc.com

MI HK MP5 AND Clones Handguard’s 

Installation Instructions. 

1.) Please make sure your firearm is unloaded and pointed in a safe direction. 
2.) Remove factory handguard on your rifle 
3.) Remove the M6.0 X 1.0 screw from your handguard with the supplied hex key. 
4.) Loosen but do not remove the 8-32 low head screw’s with the supplied hex key.        
5.) Install the MI handguard onto your rifle or pistol. 
6.) Apply blue thread loc onto the the M6 X 1.0 screw. 
7.) Install and torque the screw to 55 inch lbs. the head of the screw goes in the counter bored side of the 

yoke. 
8.)         Pull back on the handguard in the direction of the receiver and then torque the two 8-32 screws to 30 

inch lbs. Stripped screws are not covered under warranty. 

W292S4498 Hill Side Rd. Waukesha, WI 53189 
262-896-6780 Fax 262-896-6756
www.midwestindustriesinc.com

http://www.midwestindustriesinc.com/
http://www.midwestindustriesinc.com/

